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QUESTION 1

View the exhibit, which contains the output of a debug command, and then answer the question below.

FGT # get router info ospf interface port4d
port4 is up, line protocol is up
Internet Address 172.20.121.236/24, Area 0.0.0.0, MTU 1500
s ID O, Router ID 0.0.0.4, Network T"pw BROADCAST,
11t Delay is 1 sec, State DROther, Priority 1
Designated Router (ID) 172.20.140.2, Interface Address
Backup Designated Router (ID) 0.0 1, Interface Address
Timer intervals configured, Hello 10.000, Dead 40, Walit 40, R mit S
Hello dues in 00:00:05
Neighbor Count is 4, Adjacent neighbor count is 2
Crypt Secuence Number is 41
Hello received 106 sent
LS5—Req received Z sent 2,
L3—Ack received 4 sent 3,

Which of the following statements about the exhibit are true? (Choose two.)
A. Port4 is connected to the OSPF backbone area.

B. In the network connected to port4, two OSPF routers are down.

C. The local FortiGate is the backup designated router.

D. The local FortiGate\\'s OSPF router ID is 0.0.0.4.

Correct Answer: AD

QUESTION 2

View the exhibit, which contains the output of a debug command, and then answer the question below.

# diagnose hardware sysinfo conserve
nemory conserve mode: on
total RAM:

memory used:
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Which one of the following statements about this FortiGate is correct?

A. Itis currently in system conserve mode because of high CPU usage.
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B. It is currently in extreme conserve mode because of high memory usage.
C. Itis currently in proxy conserve mode because of high memory usage.
D. Itis currently in memory conserve mode because of high memory usage.

Correct Answer: D

QUESTION 3

What does the dirty flag mean in a FortiGate session?

A. The session must be removed from the former primary unit after an HA failover.

B. Traffic has been identified as from an application that is not allowed.
C. The next packet must be re-evaluated against the firewall policies.
D. Traffic has been blocked by the antivirus inspection.

Correct Answer: C

QUESTION 4
What is the purpose of an internal segmentation firewall (ISFW)?
A. Itis the first line of defense at the network perimeter.

B. It inspects incoming traffic to protect services in the corporate DMZ.

C. Itis an all-in-one security appliance that is placed at remote sites to extend the enterprise network.

D. It splits the network into multiple security segments to minimize the impact of breaches.

Correct Answer: D

QUESTION 5

View the exhibit, which contains the output of a diagnose command, and then answer the question below.
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Which statements are true regarding the output in the exhibit? (Choose two.)
A. FortiGate used 209.222.147.36 as the initial server to validate its contract.
B. Servers with the D flag are considered to be down.

C. FortiGate will probe 121.111.236.179 every fifteen minutes for a response.
D. Servers with a negative TZ value are experiencing a service outage.

Correct Answer: AC
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